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Candidates must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.
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Candidates are required to give answers in their own words as far

as practicable.
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted to the candidates for

reading the questions carefully.



g ge YRADT & @usl H & : WUs—I U4 EUs—q |

This question booklet is divided into two sections : Section-A and
Section-B.

Gus—3 H 70 ARG U §, O Bl 35 UeAl P IR QAT
AR 21 35 ULl W IMAH BT SR IF W UUH 35 BT T HeADA
BN Ud & fog 1 3fd FRiRd &1 S9&1 SR o & oy Sudte
PRY T OMR SR =6 ¥ AU 7Y WEl fddbed &l et /el dfcd U
A Ue B | i W1 TR & gReR / R Ger / s / ARG
e & OMR SR TS # WIART &RAT A1 7, AT Wi gRomd
AT BT |

In Section-A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. Darken the circle with blue / black ball pen against
the correct option on OMR Answer Sheet provided to you. Do not
use whitener / liquid / blade / nail etc. on OMR Answer sheet,

otherwise the result will be invalid.

Gus—g ¥ 20 Y NI U © | UAB & oY 2 3w FeiRa 7, [
A B 10 Ul & SR o ARt B g% SifaRad s @Wue H 6
4 TR e A W E ude @ folw 5 ofe fwiRa 5 R«
gl 3 UeAl &1 IR <1 AfYard 7|

In Section-B, there are 20 short answer type questions each
carrying 2 marks, out of which only 10 questions are to be

answered. Apart from this, there are 6 long answer type questions,



each carrying 5 marks; out of which any 3 questions are to be

answered.

Pl TR & Soldgi-id IUDHRYT HI YART YUidam afoid 3 |

Use of any electronic appliances is strictly prohibited.



s — 3 / Section - A
g&gf~s ue / Objective Type Questions

Ue WEIT 1 W 70 9% @ YD U @ A IR fddew Ry v g RH | e
HE B | 3109 §RT g9 ¢ WEl fadwey &1 OMR ¥fic R faffed o | foegl 35 wet
® IR S|

Question no. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option on the OMR sheet. Answer any 35

questions.

1. frfaRad # sifdeia 3 @19 7 ?
(A) P4O1o (B) P4
(C) wrse (D) whRew
Which of the following is a non-crystalline solid ?
(A) P4O1o (B) P4

(C) Graphite (D) Plastic

2. fie—afad g9aR SHTE I H TRAMRN @ dw gkl & —
(A) 2 (B) 4
(C)e (D) 12
The number of atoms in a body centred unit cell is —
(A) 2 (B) 4

(C)6 (D) 12

3. TThR fohecal H a9 SiToldhl Bl =T B8l & —



(A) 1 (B) 3
(C)4 (D) 14

The number of Bravais lattices in a cubic crystal is —

(A) 1 (B) 3

(C)4 (D) 14

f=forRad # fow W & &RY fhea @ a9 1 8l © 7

(A) thebet (B) wifear

(C) 3icxrepreft (D) F—&=

Which defect causes decrease in density of a crystal ?
(A) Frenkel (B) Schottky

(C) Interstitial (D) F-Centre

AR BT S AT ST 8 —

(A) A / @fiex | (B) 7T / efre

(C) <rex /At H (D) et / fepetrorm #

Molarity is expressed as —

(A) Mol/litre (B) gllitre

(C) litre/mol (D) mol/kg

i I ad & 1000 U H TBIST BT 18 UM IURYT 7, Al °ld &l
B8l S &—

(A) 1 Ao (B) 0.1 Hiel



(C) 0.1 HIeR (D) 0.5 HreTd

If 18 g of Glucose is present in 1000 g of solvent, the solution is

said to be —
(A) 1 Molar (B) 0.1 Molal
(C) 0.1 Molar (D) 0.5 Molal

el O a9l &7 S o R @Rar § —
(A) faera =1 sgfa W (B) facmr® @1 yapfa w

(C) faera & @oll @ d=gr R (D) faeia®d & o1l & | W
The colligative properties of a dilute solution depend upon —
(A) the nature of the solute

(B) the nature of solvent

(C) the number of particles of solute

(D) the number of particles of solvent

T faead & WRIRYT T &I fog deeyr 9 gad fhar Sar 8 —

_CR T _
(A)TL’—? (B)E_RT
(C)n=%T (D)n=%

The osmotic pressure of a solution is expressed by the relation —

CR

(A) == (B)§=RT



10.

11.

fag[d aR1T &1 g8 AT St CuSO4 @ °9ld ¥ U Al HIUR Bl Had

AT & —
(A) 1 BRTS (B) 2.33 BRI
(C) 2 WIS (D) 1.33 OIS

The amount of electricity required to deposit one mole of Copper
from Copper sulphate solution is —

(A) 1 Faraday (B) 2.33 Faraday

(C) 2 Faraday (D) 1.33 Faraday

e & fagd faweed & yom fm & a9 & & fore fafolRad
DI e FHIBRT B ?

(A) mz = c.t (B)m=z.c.t

(C) mc =zt (D) c = mzt

Which one is the correct equation which represents Faraday’s first
law of electrolysis ?

(A) mz =c.t (Bym=z.c.t

(C) mc =zt (D) c = mzt

fpdl 1 faeraa &1 Higar g & | F=faRad | aar uRad= gidn
8°



12.

13.

(A) AR ATAHT dgdl o |

(B) HIeR ATeTdhdl Tl ® |

(C) AeR dTeTdal H URaxi =&l 8T § |

(D) AIeR ATeTdhdl 98d 31eIdh gc STl & |

Which of the following changes takes place when
concentration of a solution is decreased ?

A. Molar conductance increases

B. Molar conductance decreases

C. No change takes place in molar conductance

D. Molar conductance decreases too much.
fr=foRad & o mufie da T8 2 2

INEESIERSE! (B) =T e

(C) Y &t ) ESRERE

Which of the following is not a primary cell?

(A) Leclanche cell (B) Galvanic cell

(C) Mercury cell (D) Lead accumulator
FfeTRad H @I BReb AMWAfHAT T DI gHTidd Bl 2 2
(A) T (B) <1d

(C) s (D) 374 & =

Which of the following factors affect the rate of a reaction ?

8

the



14.

15.

16.

(A) Temperature (B) Pressure
(C) Concentration (D) All of the above

I Pife AAfHa & forg 71 Reriw @t gar8 € —

(A) 91T &0 | HadTs (B)

(C) Airer ' eflo HBhvs (D) 37H ¥ @I58l

The unit of rate constant for the zero order reaction is —

(A) mol.litre™ sec™ (B) time™

(C) mol™ litre sec™ (D) None of these

i DI YA Pife @1 sffchar 32 fAee | 75 gfaerd g1 &1 Il @, ar
$9d 50 YT URT BIF H WHI ST —

(A) 8 T (B) 24 f&1e

(C)16 fAe (D) 20 fiFre

If 75% of a first order reaction is completed in 32 minutes then the
time required for 50% completion is —

(A) 8 minutes (B) 24 minutes

(C) 16 minutes (D) 20 minutes

afe et aifafear &1 a7 f=ifed yoR & =raq 8 © ¢

T = K[AJ[B], o1 59 oifafsrar @ ®ife grfl —
(A) 2 (B) 3

(C) 1 (D)0



17.

18.

19.

If the rate of a chemical reaction is expressed in the following
manner : Rate = K[AJ*[B], then the order of this reaction would be—
(A) 2 (B) 3

(C) 1 (D)0

Hifcrep STfErNYr & o7y, AfERITOr &1 ST Biefl & —

(A) 20 - 40 KJ mol™ (B) 40 - 400 KJ mol™

(C)5-10 KJ mol (D) 50 - 100 KJ mol™

The heat of adsorption for physical adsorption is —

(A) 20 - 40 KJ mol™ (B) 40 - 400 KJ mol™

(C) 5 -10 KJ mol” (D) 50 -100 KJ mol”

ST geret S &7 U8 9 HH BR Sdl B, HEA § —

(A) JEId—3ECy (B) agId—arTuecy

(C) SR (D) T=afhy RS

The substance which reduces the surface tension of water is
called as —

(A) Electrolyte (B) Non-electrolyte

(C) Catalyst (D) Surfactant

fa=ferRad & dia STl & dIcdige! fdora= &1 fafor oxar g ?
(A) QST FARTSS (B) Tefbrat

10



20.

21.

22.

(C) = (D) IR=¥ AArgge

Which of the following forms colloidal solution in water ?
(A) Sodium Chloride (B) Glucose

(C) Starch (D) Barium nitrate
fFrefeTRad ® #I9 uIiieRS © ?

(A) &g (B) ait

(G RUSPEECEINES (D) STt

Which of the following is an emulsifier ?

(A) Soap (B) Oil

(C) Sodium Chloride (D) Water

HITsA F=feRad # fsr o1q &7 o © ?

(A) Tgfafr (B) et

(C) dfar (D) fie

Calamine is an ore of which of the following metals ?
(A) Aluminium (B) Iron

(C) Copper (D) Zinc

Alve U & gRT FHfoiRad # 5w a1q &1 gaieror f&ar Srar g 2

(A) ferapet (B) Sopifras
(C) difar (D) i

Which of the following metals is purified by Mond'’s process ?

11



23.

24.

25.

(A) Nickel (B) Zirconium
(C) Copper (D) Zinc
oFige fafr # fr=ferRaa # o9 saadR® € ?

(A) C (B) Zn
(C) Na (D) Al

Which of the following is a reducing agent in thermite process ?
(A)C (B) Zn

(C) Na (D) Al

drer 91g & Fedvr & SR EfoiRad § @4 o1gAd & w9 | Ui
B & 7

(A) CO (B) FeSiO;

(C) CaSiO; (D) MgSiOs

Which of the following is obtained as slag during the extraction of

iron ?

(A) CO (B) FeSiO;
(C) CaSiO; (D) MgSiO;
AIH HH FIAID Aol I & —

(A) ETESIoTT (B) Etferard
(C) ATggIor (D) 3t

The gas having lowest boiling point is —

12



(A) Hydrogen (B) Helium
(C) Nitrogen (D) Argon
26. fa=feIlRad & @9 sssIo 9 w8 9911 § °?

(A) NH; (B) H.0O
(C) HCI (D) HF
Which of the following doesn’t form hydrogen bond ?
(A) NH; (B) H,O
(C) HCI (D) HF
27.  IifRIIS &R 3N & —
(A) TrATRS (B) THTad)
(C) srored (D) ARenfe
Oxygen and Ozone are —
(A) Isobaric (B) Isomers
(C) Allotropes (D) Isotopes
28. T=foiRad # 19 fgwiR¥s st B ?
(A) HsPOs (B) HsPO,
(C) HPO, (D) NH;
Which of the following is a dibasic acid ?
(A) HsPOs (B) HPO,
(C) HPO, (D) NH;

13



29. W HHOT Tcdl BT I M AR & I & —
(A) s—<difep ¥ (B) p—=ii® H
(C) d—=cifes # (D) =74 fdlt 9 &1
The position of transition elements in Periodic Table is within —
(A) s-block (B) p-block
(C) d-block (D) None of these
30. fHfoRad & &9 HehHoT I &1 JiH © ?
(A) Na 3R Ca (B) Mg 3R Al
(C) SR F (D) Cu 3ik Fe
Which of the following is a pair of transition elements ?
(A) Naand Ca (B) Mg and Al
(C)Sand F (D) Cu and Fe
31.  HIfH (Z = 24) BT soldei—e o= § —
(A) [Ar] 3d*4s® (B) [Ar] 3d°4s'
(C) [Ar] 3d%4s° (D) 574 ¥ ®Is 81
The electronic configuration of Cr (Z = 24) is —
(A) [Ar] 3d*4s? (B) [Ar] 3d°4s'

(C) [Ar] 3d%4s° (D) None of these

32. fo=faRad & foe @l & 4f BeThl § Soidel- HHdg ©9 F IRdAT § 7
(A) clerTgs (B) tfdeTgs

14



(C) wspHor T (D) gar &g

In which of the following elements, electrons are gradually filled in

4f orbitals ?
(A) Lanthanides (B) Actinides
(C) Transition elements (D) Coinage metals

33.  [Fe(CN)s]> & Fe @ 3ifaRiiexor 3raverm 23—
(A) +2 (B) +3
(C) +4 (D) 0
The oxidation state of Fe in [Fe(CN)e]* is —
(A) +2 (B) +3
(C) +4 (D)0

34.  [Cu(NHs)J*" ¥ wRipror 8Ier & —
(A) sp’ (B) sp°d?
(C) dsp? (D) dsp®
The hybridization in [Cu(NH3),J*" is —
(A) sp’ (B) sp°d”
(C) dsp” (D) dsp’

35.  faeifim By, ® f=ferRad & o9 SuRera w&ar © 7
(A) PraTee (B) =iy
(C) et (D) et

15



36.

37.

38.

Which of the following is present in Vitamin B4, ?

(A) Cobalt (B) Magnesium

(C) Iron (D) Nickel

Fr=feRaa & fha Sifed smae &1 SfAfa aqehaey 81 2 ?

(A) [Ni(CO)4] (B) INICIJ*

(C) [NI(CN)J* (D) [MnCly)*

The geometry of which of the following complex ion is not

tetrahedral ?

(A) [Ni(CO)4] (B) [NiCL,J*

(C) [Ni(CN)4J* (D) [MnCl,J*

Tl SrTgS W1 ST AT o1g W USp $eR H R R 9T -
(A) T (B) &g

(C) mma (D) Tforefr

Ethyl bromide on reaction with sodium metal in the presence of dry
ether gives —

(A) Ethane (B) Butane

(C) Propane (D) Ethylene

fereforRaa & forder STarT fAvede & w9 & gdr 2 2
(A) FIRIBTH BERISEDE]
(C)Q@ﬁ?‘ﬂ‘r{ (D)ﬁ?ﬁf

16



39.

40.

41.

Which of the following is used as anaesthetic ?

(A) Chloroform (B) lodoform

(C) Acetylene (D) Methane

fFrfeRad H BN FaRS &I 0] I & 2

(A) CCI;,CHO (B) CCI;CH;

(C) CCI3;COCHj; (D) CCI;CH,OH

Which of the following is molecular formula of chloral ?

(A) CCI3;CHO (B) CCI3CHj,

(C) CCI;COCH; (D) CCI;CH,0OH

59 CH30H, CH3-Mg-X &1 31fafoear &=t g, a1 &iq JdiTe §9ar g 2

(A) Ve (B) ST TehIed

(C) o= (D) 21

Which compound is formed when CH3;OH reacts with CH;-Mg-X ?
(A) Acetone (B) Ethyl alcohol

(C) Methane (D) Ethane

AT qF Sl Vehdtdd & Tl I8 & YSRid oxal &, 98 8 —

(A) CoH2,0 (B) CoHzne1O

(C) CrH2q+20 (D) CnH2,0;

The general formula which represent the homologous series of

alkanol is —

17



(A) CH2,O (B) CyHn:1O

(C) CrH2n+20 (D) CnH2,0;

42. VAT & AHEFdl fEferiad H B & ?
(A) FRrtet (B) SrEARYer o
(C) TEier (D) TR $oR
An isomer of ethanol is —
(A) Methanol (B) Dimethyl ether
(C) Acetone (D) Diethyl ether

43.  f=faRed # g™ ffedis o g 2
(A) 3116 ZnCl, vd | HCI
(B) 31s ZnCl, Td &% HNO;
(C) 3irs ZnCl, & &= HNO;
(D) 3% ZnCl, Td A= HCI
Which of the following is Lucas reagent ?
(A) Anhydrous ZnCl, and Conc. HCI
(B) Anhydrous ZnCl, and Conc. HNO;
(C) Hydrated ZnCl, and Conc. HNO;
(D) Hydrated ZnCl, and Conc. HCI
44. fdewrss RaRe # vgar & —
(A) 75% VehIgd (B) 95.5% VUedhigat

18



45.

46.

47.

(C) 56% Ucahlget (D) 100%Uchigat
Rectified spirit contains —
(A) 75% Alcohol (B) 95.5% Alcohol

(C) 56% Alcohol (D) 100% Alcohol

Ufes8ISS Ud dieid Sl &l ATE Sl g
(A) CnH2n+20 (B) CannO
(C) CnHZn-ZO (D) CnH2n+4O

The general formula of both aldehyde and ketone is —

(A) CaHzn:20 (B) CoH210
(C) CoH2020 (D) CaHznesO

A Vedietd & Sffarfiaver & fmforRad # &9 ure grar 8 ?
(A) THICH (B) %2

(C) Ycfesess (D) et

Isopropyl alcohol on oxidation forms —

(A) Acetone (B) Ether

(C) Acetaldehyde (D) Ethylene

Hfcaad Tiee iR dfcqad wrle & s &1 T o W iR
H 7§ B ?

(A) FS=Tet (B) vt

(C) TEiifed st (D) veIet

19



48.

49.

Which of the following is formed when a mixture of Calcium
formate and Calcium acetate is heated ?

(A) Methanol (B) Ethanol

(C) Acetic acid (D) Ethanal

CsHsMgBr &1 fore & wamer foparefierar & 8! %9 & —

0 0 0

CeHs — c- CeHs CHs— C— H CHs—C-CH
(1) ) (1)

(A) 1> 11> 11l (B) Il > 11>

(C) 1> 11> | (D) 1> 11l > I

The correct order of reactivity of CcHsMgBr with the following is —

0 0 0

CeHs — c- CeHs CHy— C — H CHy—C-CH
(1) (1) (1)

(A) 1> 11> 11l (B) Il > 11 > |

(C) 11> 11> (D) 1> 111> I

PrferRad ¥ frer e F wraifie wE SuRerd =& & ?

(A) FITIgd 3l (B) SIge 7Rt

(C) R et (D) dSiIs® 3

20



50.

51.

52.

Which of the following compounds doesn’t contain a carboxyl

group ?

(A) Methanoic acid (B) Ethanoic acid

(C) Picric acid (D) Benzoic acid

AFBIE el e frfeilRaa # faar fohareiier |HEadr g ?

(A) ¥R (B) VeabreTel

(C) &R (D) Xfeserss

Which of the following is functional isomer of monocarboxylic acid?
(A) Ester (B) Alcohol

(C) Ether (D) Aldehyde

Frefeiad & fod sfddde & gRT BHD 3R Td BHfcssss & dY
fave foHar <1 |\aar g 2

(A) e el (B) Sfer &1 AfHd®

(C) wefel art (D) NaHCO,

By which of the following reagents, formic acid and formaldehyde
can be distinguished ?

(A) Benedict’s solution (B) Tollen’s reagent

(C) Fehling’s solution (D) NaHCO3

Sd BIf® e Dl A H,SO4 & @i T fRAr S 8, 9
fforRad # a1 q9ar € °?

21



(A) CO, (B) CH3HSO,
(C) H2C,0, (D) CO
Which of the following compounds is obtained when formic acid is

heated with Conc. H,SO, ?

(A) CO, (B) CH;HSO,
(C) H2C20,4 (D) CO

53.  UTEHRY NI &7 foharelel ge0d § —
(A) — NH - (B) — NH,
(C) NH3 (D) NH,"

The functional group of primary amine is —
(A) — NH - (B) = NH
(C) NH; (D) NH,"
54.  TRIS VHIF &) IfAfHAT A18cd 3% F HRIH UR 9dT & —

(A) C,Hs0H (B) CH;COOH
(C) C2HsNO, (D) 37H ¥ @I58l
Ethylamine on reaction with nitrous acid gives —
(A) C2HsOH (B) CH;COOH
(C) CoHs5NO, (D) None of these
55, UdIcEIgs P fAfhar Br, td NaOH & 41 &)= TR a7 & —

(A) Ve (B) Afrere =

22



(C) WHefeserss (D) s

Acetamide on reaction with Br, and NaOH gives —

(A) Acetone (B) Methylamine

(C) Acetaldehyde (D) Ammonia
fereferRad # fad Yedbrgerad g € ?

(A) Rre orgad o o (B) R wdvedt Ui #
(C) R SRR wie # (D) urgHR) T Apved] Tl H
In which of the following alkylation is possible ?

(A) In primary amine only

(B) In secondary amine only

(C) In tertiary amine only

(D) In both primary and secondary amines

71 # I Halfee Hier T 7 ?

(A) gpre (B) aer
(C) wrecTe (D) ctacra
Which of the following is the sweetest sugar ?
(A) Sucrose (B) Fructose
(C) Maltose (D) Lactose
= A ¥ a9 ERIgsS 9 Hdfed g ?

(A) faerfa E (B) faerf= K

23



59.

60.

61.

(C) faerfT B (D) ferf= D

Which of the following is related to steroid ?

(A) Vitamin E (B) Vitamin K

(C) Vitamin B (D) Vitamin D

= & DI FRIROCAT IRR §RT 81 1Y S 2

(A) TSTTEH (B) faerfis

(C) W (D) i

Which of the following is not normally produced by the body ?
(A) Enzyme (B) Vitamin

(C) Protein (D) Harmone

DNA @21 RNA # §9H ¥ & —

(A) TSI, wTEerE, e (B) U, VI, HIgTRi

(C) e, IR, 2mgHi (D) VST, omg#i, o

The common bases in DNA and RNA are —

(A) Adenine, Cytosine, Uracil  (B) Guanine, Adenine, Cytosine
(C) Guanine, Uracil, Thymine (D) Adenine, Thymine, Guanine
PVC &T tdhers falRad § &9 & ?

(A) CH;— CH = CH, (B) CeHs — CH= CH,

(C) CH,=CH - ClI (D) CH,=CH,

Which of the following is monomer of PVC ?

24



(A) CH3— CH = CH2 (B) C6H5 — CH: CH2

(C) CH,=CH — Cl (D) CH,=CH,
62. AR Pl TEHY B AT TH B D fHAT BT dEd & —

(A) erargoTer (B) SRR

(SREEEay (D) FeBI

The process of heating sulphur with rubber is called —
(A) Galvanisation (B) Bessemerisation
(C) Vulcanisation (D) Sulphonation

63. fr=foRad # &9 armrelia ga® & ?

(A) TTIATT—6 (B) Ait=—6, 6

(C) STa o+ aTell ufelief| (D) S
Which of the following is an addition polymer ?
(A) Nylon-6 (B) Nylon-6, 6
(C) High density polythene (D) Dacron

64. - S FfeiRad # fhaadr aga® & ?

(A) SgeTSTEH (B) SICTSTE Td TN
(C) e P EESERRCEESINGE]

Buna-S is polymer of which of the following ?

(A) Butadiene (B) Butadiene and Styrene

(C) Styrene (D) Butadiene and Chloroprene

25



65. =1 # dI9 M Hiar afedr & ?

(A) FTT (B) TEaRCH
(C) Afeam wrgaeie (D) 5% & &
Which of the following is an artificial sweetening agent ?
(A) Saccharin (B) Aspartame
(C) Sodium Cyclomate (D) All of these
66.  dfera™ BT IUART fr=iforiad ¥ fhdAs w9 # 8rar g ?
(A) Tfedtanfes (B) VTeraifien
(C) =i @1 war () SENILED

Valium is used as which of the following ?

(A) Antibiotic (B) Analgesic

(C) Anaesthetic (D) Tranquilizer
67. NMRIM® wI H VRIA FEfalad o r g ?

(A) #fSrer ISive (B) uferar Hfersieie

(C) WRrerger dfeRiferd st (D) 0— BT gl duilse 3t

Which of the following is chemical form of Aspirin ?

(A) Methyl benzoate (B) Ethyl salicylate

(C) Acetyl salicylic acid (D) o- Hydroxy benzoic acid
68. Tr=IfeIRaa # fhaemT SuaRT Ufewufed & w9 # 8ar g ?

(A) feta (B) duifeserse

26



69.

70.

(C) JoTerTHi (D) ¥t TTETSSISS

Which of the following is used as an antiseptic ?

(A) Phenol (B) Benzaldehyde
(C) Benzalamine (D) Maleic anhydride
Pt % e ~C=0 Wi WU & 7

(A) 2R (B) TeprElat

(C) ®icH (D) T

In which of the following —(l,=O group is present ?
(A) Ether (B) Alcohol

(C) Ketone (D) Amine
fFrferRad H @19 <R Uedleld § 2

CHs;
|
(A) CH;CH,OH (B) CH;-C-OH
|
CH;
(C) CH3-CH-CH,CH; (D) CH,OH
| |
OH CH,OH
Which of the following is a tertiary alcohol ?
CH;
(A) CHsCH,OH (B) CH,-C-OH
|
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(C) CHy-CH-CH,CH; (D) CH,OH
| |
OH CH,OH

yvs—9 / Section-B

&g SR ue / Short Answer Type Questions.

U &A1 1 9 20 Y SN © | [l 10 UeHl B SR S| IS D oY 2 b
fFefRa 2 | 2x10=20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. 2x10=20

1. “ZnO ST ¥ Il BIAT © T TH H Ul 8 ST 87 ARAT B |

“Zn0 is white when cold, but yellow when hot” Explain.

2. Nl & AifHd Ufb H fhds ehad AR fha aqepas Ridadt
B § ?

How many tetrahedral and octahedral voids are there in closed
packing of N spheres?

3. faotyar Hedl g9 &1 g9 w1 © ?
What is Henry’s law of solubility ?

4. URTERYT U WRIARVT G19 &I GRHTET P |

Define Osmosis and Osmotic pressure.

5. fafdre aToideg fod ded 2 |
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10.

11.

12.

13.

What is specific conductance ?

AT BT 3MOTHaT F 3T T Fa9d © ?

What do you understand by molecularity of a reaction ?

A &R I Srfereyor 3§ eg @ e € 2

What do you understand by physical and chemical adsorption?
Zn 91 & ST I IADT BT A Ud D G o |

Write the name and chemical formula of two chief ores of Zinc.

UTSRIB IR 37l T I TG AT fordd |

Write the formula and structure of pyrophosphoric acid.
IS & &1 IYART ol ol |
Write two uses of Ozone.

HF, HCI, HBr & HI &1 arefld wifdd & aec &9 & ol |

Arrange HF, HCI, HBr and Hl in the increasing order of their acidic

strength.
qIo- & URRETD R 87 SSTeN < |

What are preservatives of food ? Give examples.
e & Tb—Ud ITART 9y —
A. IRTATCHA B . fCa=R amarsH

Write one use of the following :

(A) Paracetamol (B) Tincture of iodine

29



14.

15.

16.

17.

18.

19.

20.

THAT 3l SWIEHT BId & | HRT 9aTy |
Amino acids are amphoteric. Explain.

fr=foaRaa AfTel & dveeTers g3 fordd |
(A) N- TR (B) N, N- SgHfremer=

Write structural formulae of the following compounds :

(A) N-Ethylethanamine (B) N, N- Dimethylmethanamine
Hell Volhard Zelinsky (HVZ) sififear @i g ?

What is Hell Volhard Zelinsky (HVZ) reaction ?

2 et & T A S —C=0 wE B >CH, § TRafid T
HeTH BId ©°

Write the name of two reagents which is capable of converting

— (I3=O group to >CH, group.

TIcfcegss @ JglldRUl | UT< & JITdl &7 9 Ud qF forsd |

Write the names and formulae of two compounds which are
obtained by the polymerisation of Acetaldehyde.

oo Yedbleedt a1 § ? 3@ SUANT forlkag ?

What is power alcohol ? Write its uses ?

ATp Dl & q a1 7 ?

What is Markownikoff’s rule ?

30



<" IR U9/ Long Answer Type Questions.

9q T 21 9 26 &Y SR 2 | fhsl 3 U & SR < | UAd & folU 5 3fh

faffRa 21 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15

21.

22.

23.

24.

T BICT & Sfd — 2+3=5
(i) 7T /| NaOH & arffrar #wat & 2

(i) Tefe® e Zn a1 Cu 3 faff=1 |1 wR 3rfafhar arar 2|
What happens when — 2+3=5

(i)  Chlorine gas reacts with NaOH?

(ii)  Nitric acid reacts with Zn or Cu at different concentrations ?

(A) i solvs 3 %h A ST a1 & Byl & RIGT &1 auid &Y | 3

(B) ST HySO4 ¥ & S1fHfshar &var g ? 2

(A) Discuss the principle of extraction of Zinc metal from Zinc
blende ore. 03
(B) How does Zn react with H,SO,4 ? 02
FIEBISST R 82 0T THIHRT Ho fhar Srar g ? 24+3=5
What are Carbohydrates ? How are they classified?

(A) FRIFIS® e Ud 3ATHISH 3Fd @ §1d TR ol | 03
(B) Afrel ArATsS W UHIfe® st d¥ UTe fohar oI ® °? 02
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25.

26.

(A) Differentiate between Methanoic acid and Ethanoic acid.

(B) How Acetic acid is obtained from Methyl cyanide ?

f2Hieh STaTd | U FT A & ¢ FHD! WErIdl 4 (bl fdorg &
aNfas g MU &3 & forg ToRda &9 ura o | 05

What do you understand by Depression in Freezing point ? Obtain
a mathematical expression to determine the molecular weight of a

solute with the help of Depression in Freezing point 05

goldcle favg Ud HHe soidcls favg W T s & ? AP goldcls

forg R faeae & IS & Y9Tg BT JuiT BN | 14242 = 5

What are electrode potential and standard electrode potential ?
Discuss the effect of concentration of a solution on standard

electrode potential.

32



